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Note :— Attempt all questions.

SECTION-A

I. Attempt all parts of the following : 8x1=8
(@) Whatis control function in RTL?

(b) Define three state buffer.

(¢) Write any two instructions of O-address
nstructions.

(d) Find2’s compliment of 78 (10).
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(¢)

(a)

(c)

(d)

How many status registers in miCroprocessor-

80857

Define hit ratio in cache memory.

Write any one example of direct addressing

mode.

What is the full form of DMA?

SECTION-B

Altempt any two parts of the following :  2x6=12

A compuicr has 32-instructions and 12-bit
addresses if there are 250 two-address instruc-

tions how many one-address isntructions can be

formulated?

Draw and explain working of 4-bit common bus

system using multiplexer.

What do you understand by Associative
Memory? Explain with the help of a diagram.

Draw and explain pin-diagram of 8085 micro-

processor.




Note -

3 BCA 4208
SECTION -C

Attempt all questions from this section.

. Attemipt any two parts of the following : ~ 5x2=10

(@)  Show the block diagram of hardware that
implements the following register transfer
statement :

j - R: — R? R‘l «— R2

(b) Draw and explain the working of 4-bit arithmatic
circuit.

(¢) Explainthe instruction cycle with diagram.

4. Attemptany two paris of the following:  5%2=10

(@) Convert the following numerncal arithmatic
expression into reverse polish notation and
show stack operations for evaluating numerical
result :

B3+4)[102+6)+8]
(b) What is the use of addressing modes? Detine

indirect. register indirect, relative and auto

increment mode with example.
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(¢)  Difterentinte between
(1) Hardwired Vs, Micro programmed
(11)  RISC Vs, CISC

S, Attempt any two parts of the Tollowmy: %2710

(0)  What is DMA? Duaw and explam the wor loany
of DMA transier.

(b)  What do you mean by Memory Hierarchy?

(¢)  Whatis the use of miappmy in chache memory?
[ixplain set-associative mapping, with suitable

example.

6.  Attempt any two patts ol the tollowing, 522 10

(a)  What is parallcl processing? How it can he

achieved in viiprocessor system?
(b)  Explain the working ol arithmatic pipe lining.

(¢)  Write a program is 8085 instructions to subtract

two 8-bit number using two's compliment.
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